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ELECTIVE COURSE : COMMERCE
ECO-14 : ACCOUNTANCY-II

Time : 2 hours Maximum Marks : 50

Note : Attempt any four questions including question
no. 1 which is compulsory.

1. Attempt any two of the following questions.
7,7

(a) Explain the three systems of maintaining
accounts of a dependent branch by the head
office.

(b) Distinguish between fixed and fluctuating
capitals of partners and list the items that
usually appear on the debit and credit sides
of a partner’s current account.

(c)  State the legal provisions relating to issue of
shares at a discount and its accounting
treatment in the books of a company.

(d) What is profit prior to incorporation and
how is it calculated ?
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PQR Ltd. sold a machine to RST Ltd. on
April 1, 2007 under a hire-purchase agreement.
The payments were to be made in four annual
instalments of Rs. 84,600 each at the end of each
year which is inclusive of interest at 5% per
annum. RST Ltd. paid two instalments on time
but defaulted at the time of third instalment and
PQR Ltd. repossessed the machinery.

Calculate the cash price and prepare necessary
accounts in the books of RST Ltd. who charged
depreciation at 10% per annum on written down
value method ?

Following is the balance sheet of a partnership
firm of ‘A’ and ‘B’ who shared profits in the ratio
of 3 : 2 respectively as on 31 March, 2010 :

Liabilities Rs. Assets Rs.
Creditors 1,52,000|Cash in hand 46,000
Bills Payable 60,000{Stock 24,000
Mrs. A’s Loan| 40,000{Debtors 76,000]

Reserve Fund | 20,000{Machinery 1,12,000
capital :

A} 40,000|Furniture 16,000
B| 32,000|Investments 40,000
P&LA/C 30,000

3,44,000 3,44,000
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The firm was dissolved on March 31, 2010. A
took over investments at Rs. 32,000 and agreed
to pay off Mrs. A’s loan. Stock realised.
Rs. 20,000; Debtors Rs. 74,000 ; furniture
Rs. 18,000 ; and machinery Rs. 1,00,000. The

1
creditors were paid at a discount of 25%.

B agreed to realize assets and pay off the liabilities
on a remuneration of Rs. 4,400. Give journal
entries for closure of the books.

4, (a) Define fund flow statement, and state the § , 4
main sources and application of funds.

(b) State the factors that affect the goodwill of
a firm.

5.  The total capital employed in a company is
Rs. 1,70,00,000 out of which Rs. 80,00,000
represents equity capital, Rs. 20,00,000 general
reserves, Rs. 50,00,000 long term borrowings in
the form of debentures and Rs. 20,00,000 bank
overdraft. The current assets of the company are
Rs. 85 lakh, make up of stock Rs. 30 lakh, debtors
Rs. 35 lakh, advances Rs. 14 lakh and cash
Rs. 6 lakh. Compute (a) Current Ratio (b) Quick
Ratio and (c) Debt Equity Ratio. 4+4+4
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6. (a) A Ltd. issued 5,000 14% debentures of g 4
Rs.100 each at a discount of 6% on
January 1, 2007. The entire amount is
payable on application. These debentures

o/
/0 ON

are redeemable at a premium of 5
December 31, 2009. The interest is payable
annually on December 31 each year and any
Joss on their issue is to be written off in three
vears. Give journal entries for the above in
the books of the company for 2007, 2008

and 2009.

(b)  Explain the concept of unrealised profit in
relation to interdepartmental transfer and

its accounting treatment.

7.  Draw necessary journal entries relating to issue 6+6

of shares (a) at par and (b) at premium.
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gHt.an.-14

TATaeh SUTY R
fedaw, 2011
ufo® uegsd @ aifreg
3HL3N.-14 ;. AEfati-11

gy ;2 g 3YFaT 3 : 50
FiT:  [HE AR I F 39 fAfEy (579 597 @1 wifier 8
FifE 75 3fFard 21
1. Trafafas 9 9 e er e & s fafau 7,7
() T FECE g AfET FE F oW W R
T gonfer =1 Seer it |

(b) TRER w1 TR qen weA-wed o § SRR
AT R TEER F =16 WA * Sfae 1 hise
ve&ll & FrrTa faret S At wal w1 Seerd
RIS |

(c) V=Rl % Fedl W ftas det fafuw gaum!
W1 IeoTd HIT 791 A8 THIET f F H
KR H SHET o hd TR S § 2

(d =9 8 gd @ (profit prior to
incorporation) T R IeTd ® 2 59 afieme
FofFar e g ?
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PQR f&. 3 1 @1lie, 2007 & TF w9 RST fA. &
HHT STSY T i AT | THH YA FodF o
¥F o= | 84,600 F. Y 9N Afuw fwewal # foman s
o fored 5 wivwa wfa o # W | A WA B
RST fa. = <1 fopwal =1 oJram 999 R o e fohg
He Frvd & YAE & g9 TF (default) IR
fsrod werasy PQR T, 3 A3t o1 e & foran |
YA % FAHS A (cash price) 1 TREHTH i1y
Jq RST f. % q&ael ¥ oavas @ IRyl o
[qyie W gfad qa faty (written down value
method)a?wwmﬂﬁaﬁaﬁﬂﬁﬂ@
AR

‘A’ TUTB S WM T 3: 2 % STUW | §ied §, 39
HIREHT WEen i 31 9, 2010 1 S@ig e Frafataa
off :

12

12

AT 5. ufmufaat kR
AR 1,52,000| 3 ¥ 46,000
7 foa 60,000{=t® 24,000
fafg A =1 =90 40,000{27ER 76,000
ESER ATl 20,000 =it 1,12,000
40,000 [F=R 16,000
32,000|fag 40,000
w-aft @@ | 30,000
3,44,000 3,44,000
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31 |79, 2010 1 ®H &1 foees o e @ A 3
32,000 % ® wH & faw o fog qen dimdt A % w0
1 YT FA F fT FEE g Wik V20,000 T.
TSR ¥ 74,000 T. HATER W 18,000 . T HIATH §

1,00,000. FHS TTI SRR A 2%%@11(%

< feanmn B A oRguf Y agel aen dgmet %

TTaE F feRt ot 599 & faw $9 4,400 =, &

Bl R ,

T F T H Se A F AU v o

wfaftear wifer |

4. (a) Y YEE faaRor wt ufarw wifsw qon w9 F 8, 4

A €d T ST h1 Seor@ Ty |

(b) wH = @ (goodwill) =t wsfaR W T
SIZeh! 1 JeE FHIFTT |

5. H HUH W Fo fEET I 1,70,00,000 3.
o 80,00,000 % F R G5 20,00,000 7. F
e T 5 50,00,000 %, o9l & w9 § e
SRYT; T 20,00,000 %. T Sk e B1 S HY
1] afEaftal 85 @ & i € o 30 @ 5. @
i, 35 M@ %. & SIGR 14 @G &. &t Aty ufvrt
(advances) T 6 @ & UHE T F 1 (a) =Y
U (b) TR U A1 (c) &0 et srqur =i
ror i 4,4, 4
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6. (a) Afa 313Fa, 2007 F1100%. JE HOTHF 8, 4

5,000 14% OT9A 6 fdqer e W frifda fra
[ i STEEA WA B 1 3 Horas 5% Tafoem
T 31 faEaR, 2009 & ¥em §1 37 FOE B
=79t Jfaay 31 fewar 1 femn w0 ® 991 =
i g€ wft =1 swered @9 aut | e
SR SO W g § S9Ed 1 2007,
2008 €1 2009 % faq savas® wHa yfafear
ST | '

(b) Hafauriia gwaimu & ded § syurd ey
(unrealised profit) Sl HHTHT I S HHTT
A1 I8 JARY T SHFH @i {6y Yo faman
S E?

7. (a) T WTE (b) Tiaw W &9 (Id) w1 e 6+6
YU I ATt s gfafied 1 seerg it
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